normalized X?

[ normalized x? probability |

: Entries 845
b | mean 1153
" [stdpev 0.7546

-r

2 4 6 8 10 12 14 16 18

20
2

DQM_V0001_R000000001__Global__mkFit_baseline
DQM_V0001_R000000001__Global__mkFit_var
DQM_V0001_R000000001__

DQM_V0001_R000000001__ ¢

Global

G\obal:m kFit_jcoreNoClean
|__mkFit_jcore50maxCand-24DUPremoval

< x2/ndf >

T

<pr/p > (%)

Ratio

Ratio

< x2/ ndf >

< X2/ ndf >

5

S

4
3
2

!
0|

il

0 1 2 3
TP n (PCA to beamline)

=

N
o
L Ly L LR LR RN AR LR L

Ratio

<op fp_> (%)

Ratio

ALl

L iﬁ

171

1072 )
AR(track, jet,



	Contents
	Page 1


